Monday
LO: I can add 4-digit numbers using the column method
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[image: ]9. Which of these two numbers add together to make 4,031?
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Tuesday 
LO: I can subtract 4-digit numbers using column subtraction
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5. [image: ]Write a column subtraction to match each representation and work out the answer. 







[image: ]
6. 

Wednesday 
LO: I can add and subtract 4-digit numbers using the column method 
[bookmark: _GoBack]Read through the questions  carefully to decide whether you need to use addition or subtraction to answer. Then use your column method to solve. 
1. A library has 1250 non-fiction books and 1075 fiction books. What is the total amount of books in the library?
2. James had 2413 stickers. Tom had 3435. How many more stickers did Tom have than James?
3. A school has 1398 boys and 1427 girls. What is the total number of pupils? 
4. A lady cycles 3458 km in one week and 2753 km the next week. How far did she cycle altogether?
5. Kim has 2467 marbles. Joe has 4421. What is the sum of Kim’s marbles and Joe’s marbles? 
6. In a jumping competition, George jumped 2351 cm. The winner jumped 2782 cm. How much further was the winning jump?
7. There are 8272 West Ham fans at a football match and 3874 Liverpool supporters. What is the total number of fans in the stadium? 
8. In May, 7542 people visit the swimming pool. In June the number of visitors increases by 3431. How many people visit in June? 
9. In October there were 5433 visitors to a theme park. In November the number of visitors declined by 1004. How many visitors were there in November?
10. Challenge: Andy is reading a book, which has 1895 pages. He read 153 pages in the morning and 251 in the afternoon. How many more pages has he left to read?










Thursday 
LO: I can identify Roman numerals to 100
Watch the Maths with Parents video about Roman numerals and then complete the activity.
Have a go at writing out and practising Roman numerals to 100. Use these key numbers to help.
	1 = I

	6 = VI

	20 = XX

	70 = LXX


	2 = II

	7 = VII

	30 = XXX

	80 = LXXX


	3 = III

	8 = VIII

	40 = XL

	90 = XC


	4 = IV

	9 = IX

	50 = L

	100 = C


	5 = V

	10 = X

	60 = LX

	



















Friday 
LO: I can use Roman numerals to 100
Watch your Maths with Parents from yesterday to remind you of the rules when using Roman numerals, then complete the activity.
Use the table to help decipher the meaning of the two secret messages on the tablets. 
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Choose 4 digits which are not all equal to each other.

What is the biggest 4-digit number you can make with these digits? What is the smallest 4-digit number
you can make with these digits?

Subtract the smallest number from the biggest number, using compact column subtraction. Your
answer gives your 4 new digits.

Repeat these steps with your 4 new digits. Keep going until something interesting happens! What do
you notice?
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Can you find two 4-digit numbers whose sum is 55557
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Extension: What if you're not allowed to use any digit more than once?
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